
engineers

QUESTIONS:

YOUR CODE:

S A V E  T H E  I N T E R N E T

You form a team of engineers. Answer the questions below
to find out the code for your padlock. 

Good luck

 
                                          

5)____________ 2)____________  8)____________  1) ____________

 
 
 

3)____________ 1) ____________ 9) ____________ 7) ____________

 
 

9)____________ 4)____________ 7)____________ 6)____________

 
 
 

0)____________ 6)____________ 3) ____________ 2)____________

[optics] One of these colors is not primary. Which one?

red yellow blue green

One of the products of photosyntesis is:

water light oxygen carbon 

a = 9;           b = 8;          c = ?

≈ 10 ≈ 11 ≈ 12 ≈ 13

Which metal is not ferromagnetic?

iron cobalt nickel copper



QUESTIONS:

YOUR CODE:

scientists

S A V E  T H E  I N T E R N E T

You form a team of scientists. Answer the questions below
to find out the code for your padlock. 

Good luck

 
 
 

5)____________ 2)____________ 3)____________ 1)____________

 
 
 

9)____________ 1)____________ 3)____________ 8)____________

 
 
 

0)____________ 8)____________ 5)____________ 6)____________

 
 
 

7)____________ 4)____________ 2)____________ 5)____________

Which one is not a noble metal?

gold palladium copper platinum

The unit of force in SI system is:

Ω - ohm N - newton Pa - pascal W - watt

a = 18;           b = 11;          c = ?

≈ 19 ≈ 20 ≈ 21 ≈ 22

What is not an isotope of hydrogen?

protium deuterium tritium muonium



QUESTIONS:

YOUR CODE:

mathematicians

S A V E  T H E  I N T E R N E T

You form a team of mathematicians. Answer the questions
below to find out the code for your padlock. 

Good luck

 
 
 

1)____________ 2)____________ 3)____________ 4)____________

 
 
 

1)____________ 2)____________ 3)____________ 4)____________

 
 
 

1)____________ 2)____________ 3)____________ 4)____________

 
 
 

1)____________ 2)____________ 3)____________ 4)____________

a =  b = 12;          c = ?

≈ 20

The atomic mass of oxygen is:

8 u 16 u 12 u 6 u

What is the temperature of absolut zero?

- 459,67 °C 0 °C - 273,15 °C - 100 °C

≈ 19≈ 18≈ 17

What is the speed of light (km/s)?

≈ 1000 ≈ 20.000 ≈ 300.000 ≈ 1 milion


